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NoTE:=~ Answers may be written cither in English or in
Hindi; but the same vmedium should be used
throughout the paper.

feouit— 5@ w¥ATT a7 I AR A (7= Al T AT
¥ dfow dfHT g 90 T wEn & @ 8
qEC!

Note:— The maximum marks printed on the question

' paper are applicable for the students of the
NCWEB. These marks will, however, be scaled
‘down proportionately in respect of the students of
regular colleges (Cat. ‘A’) at the time of posting of
awards for compilation of result.
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fewoit:— w797 - W sifad QUi NCWEB ¥ faemfyfat &
frg st &1 awfy @ &w Frarm FHetar
@ 4°) ¥ framfat & g9 7 3% v @
e ¥ RIT Frae s & a9 w39
s Y & &7 gt
All questions dre.compulsory. Log tables and other

statistical tables shall be provided. Use of simple
calculator is allowed.

a4t w7 vy € mma’mgﬁzrwmm?/
I 29T T Y QAT daeq AT
R 377y FX & 37

1. (@) A firm produces 3 products, X, Y and Z rcqumng
mix up of 3 matenals A, B and C. The per unit
requirement of each product for each material is
given below:

@ W X,Y sk 2 #7 s dan aaht @ R
t%rqA,Bafhca‘hmﬁaﬂ.méa‘?%nmas
IR i TS ued & faT 9 IR Swa @ A2

- few T 8— 2
X Ty z
A 2 5 3
B 4 2 2
C 3 2 3

Using matrix notation determine:—
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(i) Total requirement of each. material if the
firm produces 100, 200 and 300 units of the
three products respectively.

(i) Per unit cost of production if per unit cost of
materials is Rs. 10, Rs. 5 and Rs. 8 respect-

tively.

(iii) Total cost of production.

Afrsg WA W VA W Frafated @ fafo
HRGT

®

A% vl @ oA e gk v @A

Il @ w100, 200 3R 300 7R duAR

(ii)

(iii)

Locil §

Fad W gfE ane otk wed @ s

IFIE AT T 10 Fo, 5 To AT 8 Fo 1

T IAEA A | 7
Or (319an)

A person invests in 2 securities A and B in two
years at different rates. The annual rates of return
in % are as follows:

A B
Year 1 10 15
Year 2 12 § 16

' Using matrix notation determine:—
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(i) Annual return of each year if he invests Rs.
50,000 and Rs. 80,000 in the two securities
for two years.

(ii) Investment in each security for 2 years if he

receives ‘retums of Rs. 40,000 and Rs. 44,000
in two years respectively.

T =fw & ARl A shtB ¥ @ af % ok

rwaﬁvﬁ%mménmm‘mzt
wﬁmmﬁ‘mmtiz—

A B
ag 1 10 | 15
Ty 2 12 16

2. (a)

#@wﬂﬁammﬁqﬁma&ﬁm

A — ‘

0) rra)a;aa‘awarﬁfa;muﬁagaan‘a;
foe @ sfgfirdl & 50,000 %0 otk 80,000 %o
f&w w2

(i) na}a;mmﬁﬁa}mf%aﬁmﬁémm'?qﬁ
9 @ F s 40,000 w0 sk 44,000 %o
uA%e Wr| gt

For the supply function X=a(p—b)"S where p>b,
find price elasticity of supply in terms of p at a
price p. Also show that it is unitary at p=2b and
decreases with the increase in price using calculus.
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e o X=a(p-b)*® ¥ fag, fead p>b, p
w9 W p & W ¥ v A FAwa A9 79 R

e & degem W o =& wefifa Rt e T

p=2b #1 U ? sk Fiva ¥ gfe & o9 w2 I
2

Or (31gan)

Total cost . function of a productb is
TC(X)=100+0-015X% Find elasticity of both
total cost and the corresponding average cost
function and verify that E,c=Ec—1.

W @R W TA A W TC(X) =100+
0-015X 21 T @ h sgeh st wrm
wo Al 7 e g Fifig stk gt it fe

Esc=Erc—1.

The price fﬁnction of a product is p=400—2x with
a per unit cost of Rs. (0-2x+4+400x ). Find
profit maximizing price, quantity and the
maximized profit. '

TF I F AT B p=400—2x ? 3R wfy gfe

AT (0-2+4+400k ) Fo 21 w9 HAfumasiER

Fiwa, wrn SR Afuwadia s o9 AR

Or (319=)
The price function of ,av product is p=100=0"%3),
Find price and quantity which maximizes total

P.T.O.
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3. (a).v

6

revenue, maximized revenue and the price

elasticity of demand at this level.

T 3R F #AG B p=100e > 21 #ing sk

a9 AT S o goE B Afwen T 2

W W W AfgaHiga Joa 3t 7 3} siwg de
@ W)

The marginal cost function of a- product is
MC(X)=2(2X+9)"%. Find the corresponding
total and the average cost functions if total cost at

0 level is Rs. 4. Also find per unit cost at X=8
units.

T IAR W Wi @ wad MC(X)=

2(2X+9)"% & argwd g sk aitwe. arTa werl

R 19 FAC AT 0 WR oA aTd 4 o § 1 X=8

e R 9l g arma 31 FA |
Or (31gan)

Find the demand function which has unitary price

elasticity at all points if total revenue is Rs. 200 at
all levels.

o W @ Ffe e @ fags W
@ A € aft ot W W o TIE 200 Fo ¥
4x3

The difference between compound interest and
simple interest for second year on a sum at 10%

~ per annum is Rs. 100. Find the sum.



(a)

®)

(b)

" either at. 10% p.a. compounded quarterly or at
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firelt o7 W g oY - e Swgle s S TR
A ¥ d9 109% 97 af @ A 100 To 1
¥ g9 HT

Or (3ga)

The difference between interest @ 8% per annum
compounded quarterly and compounded semi-

“annually for two years is- Rs. 36. Find the

principal.
frmd =9 § 8% iy a9 wgfg s et @ af &
fre sT-affs v § wFAlE @ A i 36 To 1
qav m’a»‘lf%rqu
Find the effective rate of interest corresponding
to 12% p.a: , when compounded [6) Monthly, (ii)
Quarterly.
12% uﬁaﬁ#mma‘tw@amﬂfm
Ja T () WfEs (i) faodt Swafe <9 @
S R

Or (319en)

An investor can invest Rs. 50,000 for 3 years

11%. p.a. compounded semi-annually. Find which
is preferable by investor and the corresponding
gain.

& FRve 50,000 To 71 ot fawrdt ®9 & 10% ¥fa
af awgfg =9 W 3 ¥ & faw ama § @ HE-

P.T.O.
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Tiffs 1 ¥ 10% wfivad Twgfe o™ T I ¢

fraws R dag wm ot sIgEd | = fm?
3x2
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